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1. Proposition 1.B.1 in MWG states the following: 
 

If ≿ is rational then: 
 

i. ≻ is both irreflexive (𝑥 ≻ 𝑥 cannot hold) and transitive (if 𝑥 ≻ 𝑦 and 𝑦 ≻ 𝑧, then 
𝑥 ≻ 𝑧) 

ii. ∼ is reflexive (𝑥 ∼ 𝑥 for all x), transitive (if 𝑥 ∼ 𝑦 and 𝑦 ∼ 𝑧, then 𝑥 ∼ 𝑧) and 
symmetric (if 𝑥 ∼ 𝑦 then 𝑦 ∼ 𝑥), 

iii. If 𝑥 ≻ 𝑦 and 𝑦 ≿ 𝑧, then 𝑥 ≻ 𝑧 
 

Provide a proof of the three results in this proposition.  Hint: Showing that ~ is transitive is the 
easiest, so start there. 
 

2. Given the choice set 𝑋 = {𝑥, 𝑦, 𝑧} and the choice structure (B, 𝐶( )), where B =

{{𝑥, 𝑦}, {𝑦, 𝑧}, {𝑥, 𝑧}, {𝑥, 𝑦, 𝑧}}, 𝐶({𝑥, y}) = {x}, 𝐶({𝑦, 𝑧}) = {𝑧}, 𝐶({𝑥, 𝑧}) = {𝑥, 𝑧}, and 
𝐶({𝑥, 𝑦, 𝑧}) = {𝑥, 𝑧}: 
 

a. Demonstrate this choice structure satisfies the weak axiom of revealed preferences 
(WARP) 
 

b. Suppose instead 𝐶({𝑥, 𝑦, 𝑧}) = {𝑥}.  Does this choice structure satisfy WARP?  Provide 
an explanation for your answer. 

 
3. Consider a consumer’s choice of spending wealth on only two goods, x1 and x2.  Show, for each 

of the following Walrasian demands, that they satisfy: i) homogeneity of degree zero, and ii) 
Walras’ law: 
 

a. 𝑥ଵ(𝑝ଵ, 𝑝ଶ, 𝑤) =
௪

ଷ௣భ
 and 𝑥ଶ(𝑝ଵ, 𝑝ଶ, 𝑤) =

ଶ௪

ଷ௣మ
 

 

b. 𝑥ଵ(𝑝ଵ, 𝑝ଶ, 𝑤) =
௣మ

మ

ସ௣భ
మ and 𝑥ଶ(𝑝ଵ, 𝑝ଶ, 𝑤) =

௪

௣మ
−

௣మ

ସ௣భ
  

 
c. 𝑥ଵ(𝑝ଵ, 𝑝ଶ, 𝑤) =

௪

௣భା௣మ
 and 𝑥ଶ(𝑝ଵ, 𝑝ଶ, 𝑤) =

௪

௣భା௣మ
 


